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reous Enamel Wirewound Resistor
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TiHigh temperature vitreous enamel as the superficial coating. ﬁ
“ilUses the high temperature fireproof alumina porcelain IE
boby, full-welded construction. @ Excellent high temperature I-fl
s
load performance. ©T series is adjustable,N series is S
noninductive. © Assembly and fittings{available). IE
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B S Rate | Resistance Range | == Weight(g) 5M R<F Dimensions(mm) -
Type Power 3 iy
L (W) |RXG20RX20-T EE | Wi | L D d |[H| h |L1] K b | t|di 3
g BR1~3K3 23 35+1.6 | 14£2 56+0.56 285+25 365+08|456]|2 é
10 BR1~10K |BR1~200K] 17 34 41+1.6 | 14+2 565+06| 31 |[2B5+2.6/20 |6+2 3.6+08(45]|2 g
16 BR1~158K |BR1~220K| 36 42 45+1.6 | 1712 8+0.5 34 |31+£2.6 |23 |6x2 36+08|456]|2 5
o
20 5R1~20K |6R1~430K 44 52 51+2 17+2 8+0.5 34 13125 |30 |6+2 3.65+08(45]|2 g
o
25 10R~24K |10R~B10K|{ &7 68 51+2 21+25 (12+06 | 39 |36+256 |30 (62 36+08|456]|2 =
RX20(T) 30 10R~30K |10R~1K 20 90 71+2.2 | 21+£26 | 12206 | 39 |36x25 |44 |6+2 3.6+08(45]|2 E"
b=
40 20R~B1K |20R~1K2 | 98 110 B7+2.2 | 21+£25|12+06 | 39 |36+2 5 |K7 36+08|456]|2 —
—
50 24R~B6K |20R~1K5 132 160 91+2.4 | 29+3 20+£1.1 | 47 |43+£2.6 |60 |7x2 4.5+1 ] 25 g
75 20R~B1K |24R~2K 253 270 140+£3.2| 293 20+£1.1 | 47 [43+£2.6 |110|7x2 4.5+1 5] 25 é
o
100 24R~B2K |20R~4K3 | 286 200 170+£3.6| 293 20+£1.1 | 47 (4326 |140|7x2 4.5+1 ] 25 -g
=
160 20R~T7BK |20R~4K3 | 385 300 216+4 29+3 20+£1.1 | 47 |43+2.6 |18B| 72 4.5+1 ] 4 g-
=
200 4R7~68K |BR1~4K3 | 476 A00 216+4 38+3 38+3 61 |BB+2 160 7+2 g+1 9 4 o
=}
200/250 |4R7~68K [BR1~4K3 | B10 530 2664 30+2 30+2 50 |B0+2 210|172 g+1 9 4 3
o
RXG20(T)| 300 1R7~68K |BR1~4K3 | 630 650 266 +4 36+2 36+2 58 |BB+2 210|8+2 g+1 9 4 =
A00 4R7~T76K |6R2~5K1 1000 1060 | 250+4 54 +2 54 +2 76 |77+3 1801021 81 16 | 8
500 4R7~T76K |6R2~5K1 1340 1400 | 3004 54 +2 30+2 76 |77+3 230|102 | Bx1 16 | 8
12




